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= -~ Porter Company makes a product that sells for $20 per unit. Variable costs are $12
per unit, and fixed costs total $200,000 annually. Please answer the following

independent questions: (200 4

(1) If the product’s profit margin is 8% in current sales. what is the safety margin
ratio 7

(2) Use the contribution margin ratio to determine the after-tax target profit
$50,000 in sales dollars. Assume the corporate tax rate 15 20%.

(3) The company estimates that sales will increase $45,000 during the coming year
due to increased demand. How much should net income increase 7

(4) If the product’s profit margin is 15%, what amount will be achieved in sales
dollars 7

(5) If the net income for current year is S100,0000 and cost structure remains
constant, then :

(a) Compute the degree of operating leverage at the current level of sales.
(b) The president expects sales to increase 20% pext year. How much should
the net income become in next year ?

(6) Assume that the company sold 20,000 units last vear. The president thinks that
annual sales will increase 50% by increasing the sales commission $2 per unit,
increasing some amount in advertising, but not decreasing per unit selling price,
How much could advertising be increased with profits remaining unchanged

under the incremental analysis approach ?

rg ~ Sunsan Company produces a number of product, including a body-wrap kit.

Standard variable costs relating to a single kit are given below © (20 4)

Standard Quantity Standard Price Standard
or Hours or Rate Cost
Direct materials ... ... ? $6 per vard £
Direct labor o B * ?
Variable manufacturing overhead . . . 1 £2 per houwr 7
Total standard cost per kit ... .. . 542

During August, 500 kits were manufactured and sold. Selected information relating to the
month’s production is given below:

Materials Direct Variable Manufacturing
Lsed Labor Overhead
Total standard cost* ... ... ... % 7 B, 1,600
Actual costs incurred . . L) ? 1620
a

Materials price variance S
Materials quantity variance .. ... ..
Labor rate variance S
Labor cfficiency variance . ... . ...
Cwerhead spending variance .
Overhead efficiency variance . . .. ..

*For the month's prodection.

Al L




- "

Mgt o 354

E i om 5 A B i : . - L
gy 4 B idi#ﬁ 1 # ¥ ﬁdﬁﬁ%ﬁ?ﬁ&ﬁﬁ ;—;—é

i

a
]

The following additional information is available for August production of kits:

Actual direct labor-hours ... .. o e B
Crverhead is based on . . . . . Dhrect labor-hours
Difference between standard and actual cost p&r kit pmduc:Ld dunng Augu'-'.t U (R

What was the total standard cost of the materials used during August?

How many vards of material are required at standard per kit?

What was the materials price variance for August?

What 1s the standard direct labor rate per hour?

What was the labor rate variance for August? The labor efficiency variance?

What was the overhead spending variamce for August? The overhead efficiency
variance”

Complete the standard cost card for one kit shown at the beginning of the problem.
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FE A A S200,000 » BB A R ARG H 5 & H)$80,000 0 B = 4
4 FAS30,000 $EFFERMES20000 0 oL HHERTE
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A 12%
B # £ R 1 Sl A
1 0.893 0.893
2 0.797 1.690
3 0.712 2.402
4 0.636 3.038
5 0.567 3.605

AR () EF -~ om0 e i A7 & 4 4979 548 (net present value) °
(23t B ¥ ~ Z @3 § Rl & 4 &) 7 #0458 $(profitability index)
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